fﬁ.*.‘o M\C
?wﬁ/"/ } lﬂ.
= Find the equation of the tangent line EeeL (9_3 N
F) y=csc'x atx=2 ‘j T
éj _ ‘ = S (a} _f;
dx —Iscl = NIy
=& -2
C( Jh‘ . a(’ah )
oYy = —Qd'_} ~[5LX = =1
dy - (2[{3 i ] Sinx

G) Find the derivative of f(x) = sinx at X =Z

L1~ cosx
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o £ “(x)

[ 5(&\
{B)q3 @‘33
n= > m:.l
3

-2.
The function g is differentiable and

2 1 ot f be a differentigble-funetion such that
(161191613 5) = 6.
6) =

3[\&\ s gl € g(x)=f1(x) for all x. What is the value

of(g'(15)?

a) -1/2 c) 1/6 d) 1/3
e) The value of g'(15) cannot be determined

fefumiction g is differentiable and
§loPg(x) = F!(x) for all x. What is the value
of g'(4)?

a)-1/2 b)-1/8 ¢) 1/6 (d) 1/3
e) The value of g'(4) cannot be determined
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3 ot f he a differentiable-function such that
3) =9 (8) = 4, @ nd
f'(8) =3.
The function g is differentiable and

g(x) = fF1(x) for all x. What is the value
of g'(5)?

a) -1/2 b) -1/8 @ d) 1/3
e) Thevalue of g'(5)Cannot be determined

4 If@f'(z) =3, and g(9 y= 2+ 2 3)

what is the equation of the tangent line to g(x)

o atx= -3?
£ | g6 o .
(2(_3) A) y-2:I(x+3) B) _V+2=Z(X—3)
m:% - @—2=%(x+3) D) y+3=%(x—2)

E) y-2= g(x+3)

-4
Slf ’2 =-31 ffz —Z d =f-l ’
=3 £ (z}:—% /@ (2)=3amd glx)=1"(x)

what is the equation of the tangent line to g(x)

G’-.."b mh% atx = -3?
G760 (A) v-2=i~3~(x+3) B) v+2=l3-(x—3)
(32) w2 S ; 4
1o y2=3(x+3) D) y+2=3(x-3)
4
T T E) y-2=§(x+3)



d g(x)=1"(x),

what is the equation of the tangent line to g(x)

6. 162) =3 =,

atx = -3?
)6}’-2=§(x+3) B) y+3=§(x+2)
§(fy—2:%(x+3) N‘_v+2=§(x—3)

@;—2=§(x+3]
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CALCULUS: Graphical, Numerical, Algebraic by Finney,Demana, Watts and Kennedy

Chapter 3: Derivatives

3.9: Derivatives of Exponential and Logarithmic Functions

y= Qns-rﬂnc
W= 0.5+

3=lnc(f=c\

e*-Se
Y= g
i 4

What you'll Learn About
How to take the derivative of exponential and logarithmic functions

4) y=5°

ljfzstfnf) 4

COME\' ‘

(Se)
(56) -’0“('55 5

2x

D y=x'e*-x'e’

7" w3 (e e H)t e (3‘

\,:: L{x?’qu-l-g 2 ’iJk

C} \ =5:|il1_l.
i sinyY
- . * (LSX
\/ 5 Qﬂ% &r(,{-aaxg ) 3)&1
3‘ : *dnb —
(: | 463
E)\vy F) v =5¢™

B)

y =

)r — 7 5
5

*. a7 - A%

acC tun (??)

D) y= 6u:ctum'3 5':- L

1 (cs'x)ﬂ“e

—

y=e*

<3 e
5‘: e 'ﬂnt * o

[YH EEES’,Q,‘;.Q) r em('-ltq

o

e s “l
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